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ACHIEVEMENT TEST 2023-24
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Choase the _most appropriate ANSWET -

I"nnd 18 a type of a) Forest ccosy~iem b) Grassland ccosysiem
c) T\.larrnc ccosyslem d) (resh water ecosystem
Solar energy uscd by green plants for photosynthesis 1s only
a) 2-8% A b) 2-10% c) 3-10% d) 2-9%
Which of the following ecosystem has the mghest pnmary producuvity? '
¢) Grassland ecosystem d) TForest ecosystem

a) Pond ccosystem b) Lake ecosystem
d) All of the above

Ecosystem consists of a) Decomposers
Significance of food web is / are
a) It does not maintain stability in naturc
¢) ltexplains specics interaction
;:;lh]':f:] of the following is not a sedimentary cycle?
R ‘llrogrcln‘cyclc b) Phosphorous cycle ¢) Sulphur cycle

ich 0~ the following would most likcly help to slow down the greenhouse effect?
a) Convcerting tropical forests into grazing land for cattle.

b) Ensunng that all excess paper packaging is buried to ashes.
¢) Redesigning landfill dumps to allow methane to be collected. d) Promoting the use of private rather than

public transport.
With respect to Eichhomia
Staternent 1 ; Itdrains off oxygen from water and is seen growing in standing waler.
Statcment II: Itis an indigenous species of our country. .
a) Statement lis correct and Statement Il is wrong b) Both Statements I and 1l are correct
c)_ Statement lis wrong Statement Il is correct d) Both statements land 11 are wrong.
Find the wrongly matched pair.
a) Endemism - Species confined to a region and not found anywhere else. b) Hotspots - Western ghats

d) Sacred groves - Saintr hills of Rajasthan

¢) Ex-s itu Conservation - Zoological parks

Depletion of which gas in the atmosphere can lead lo an increased incidence of skin cancer?
c) Nitrous oxide d) Ozone

b) Producers ¢) Consumers

b) It shows patterns of energy transfer
d) band c

d) Calcium cycle

a) Ammonia b) Methane
The unit for measuring ozone thickness
a) Joule b) Kilos c) Dobson d) W hat
d) None of the above

People’s movement for the protection of environment in Sirsi of Kamnataka is
a) Chipko movement b) Amirtha Devi Bishwas movement ¢) Appiko movement

Assertion : Genelic variation provides the raw material for selection
Reason : Genelic variations are differences in genotypces of the individuals. . N
a) Assertion is right and reason is wrong b) Assertion is wrong nndlrcason is ngh

c) Both reason and assertion are right d) Both rcason and asscrtion arc Wrong.

The quickest method of plant breeding is : o ’ .

a) Introduction b) Selection =~ c) Hybridization® d) Mutation breeding
Assertion : Turmeric fights various kinds of cancer

Reason :Curcumin is an anti-oxidant present in turmeric o )
b) Assertion is wrong, Reason is correct

a) Assertion is correct, Reason is wrong .
c) Both are correct d) Both are wrong
The active principle trans-tetra hydro canabinal is present in _
a) Opium b) Curcuma ¢) Marijuana d) Andrographis
~=—-—-——-—-- is called the King of Bitter _
a) Nilavembu b) Basil c) Adathoda d) Turmeric
Initiation codon in
a) UuuU b) UGA-————__ ¢) AUG d) UAG
a) Colchicine b) Caecium chloride ¢) Ethyl methane sulphonate d) CFC
An eminent Indian embryologist is ;

¢) M.S Swaminathan d) K.C.Mehta

a) S.R. Kashyap b) P. Maheswari
Pollen tube was discovered by
a) J.G. Kolreuter b) G.B. Amici

c¢) E. Strasburger d) E. Hanning

Size of pollen grain in Myosotis .
a) 10 micrometers b) 20 micrometers c) 200 micrometers d) 2000 micrometer
First cell of male gametophyte in angiosperm is

¢) Nucleus d) Pnmary Endosperm Nucleus

a) Microspore b) Megaspore

Ruminate endosperm is found in

a) Cocos b) Areca ¢) Vallisnena
b) Crossing between two FL hybrids ¢) Crossing the

Test cross involves

a) Crossing between two genotypes with recessive trail
F1 hybrid with a double recessive genotype d) Crossing belween two genotypes with dominant trait
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Chang ng the codon AGC o AGA represents Lation d) Deletnon mutation
2) Missense mutalon b) Nonsense mutat. o &) Frameshift muts b) Required by bactena
Plasmuds are 1 Carcular protein molecu's s ce (o antibiobcs
¢) Tiny baciena d) Confer resistan
pBR 122 BR stands for Jactenal Replicaton
#) Plasmid Bactenal Recombmaton b) Plasmid Bac and Rodnguez

ore
¢) Plasmid Boliver and Rodngues d) Plasmud Balim

In which techniques Ith.divm Bromide 1s used?
1) Southern Blotung rechmques b) Western otting techniques lectroporosis
¢} Polymerase Chan Reacton d) Agrose Gel I cl:ccnusc this bactenium s associated
Assertion  Agrobacierum wmifaciens is popular n genete enginecnng

®ith the root nodules of all cereals and pulse crops . gets atomatically ransferred. 10 the cross
Reason A gene ncorporated m the bactenal chromosomal genome geis
with which hacienum - associated. anaton of assertion.

2) Both assertion and rcason ar= frue But reason i1s cormrec! ¢-‘r‘l X
h) Both asserton and reason are tmie Bul reason 1s not correct explanation of ﬂ-‘lhcmon-f lse

¢} Asserhon 1s rue, bul reason s false d) Both asseruon and roasONG® faise.

Which one of the following s not correcl statement?

2) Trplasmid causes the bunchy top of Banana disease . . ,

5) Muluple cloning site 15 knm:n .\.2 Potyhinker ¢) Non-wviral method trans(ection of Nucleic acid m celf
d) Polylactic acid is a kind of biodegradable and bioacuve thermoplastic.

An analysis of chromosomal DMA using the southern hybndization technique does not use

a) Fleciraphoresis b) Blotting ¢} Autoracography  d) Polymerase Chain Reaction

Some of the charactenistes of Bt cotton are

4) Long fibre and resistant to aphids b) Medium yield, long fibre and resistant to beetle pests

c) High yeld and production »f toxic protem crystals which kill dipteran pests.

d) High yeid and resisiant lo ball worms ,

Totipotency refers to

a) Capacity to generate genencally identical plants,

b) Capacity to generate a whole plant from any plant cell /explant.

¢) Capacity to generate hybnd protoplasts. d) Recovery of healthy plants from diseased plants.
The nme duration for stenlization process by using autoclave is

minutes and the temperature is-— a) 10 to 30 minutes and 125°C b) 15 to 30 minutes and 121

¢) 15 t0 20 minutes and 125°C d) 10 to 20 minutes and 121°C e Wty
Which of the followmng statement 1s comrect?

a) Agaris not extracted from manne algae such as seaweceds.

b) Callus undergces difierennatun and produces somatic embryoids

¢) Surface steniizaton of explants 1s done by using mercuric bromide d) PH of the culture medium is 5.0 10 6.0
Select the incorrect statement from given statement

a) A tonic used for cardiac arrest is obtamned from Digitalis purpuna

5) Medicine used to treat Rheumatic pain is extracted from Capsicum annum

¢) An anti-maianal drug 1s 1solated from Cinchona officinalis.

d) Ant-carcinogenic property is not scen in Catharanthus roseus.

Virus free plants are developed from

a) Organ culture b) Menstem cuiture ¢) Protoplast culure d) Cell suspension culture
Cryopreservation means it is a process lo preserve plant cells, tissucs or organs - - -
a} At very low temperature by usmg ether b) At very high temperature by using liquid nitrogen

¢) at very low temperature of -1"96by usmg liquid nitrogen d) at very low temperature by using liquid nitrogen
Soldifying agent used in plant ussue culture is

a) Nicotinic acid b) Cobaltous chloride ¢) EDTA d) Agar

Arrange the correct sequence of ecological hierarchy starting from lower to higher level.

a) Indrvdual organism ‘ Population Landscape * Ecosystem b) Landscape ‘ Ecosystem * Biome * Biosphere c)

Community * Ecosystem ‘ Landscape * Biome d) Population ‘ organism * Biome * Landscape
Ecology is the study of an individual species is called

i) Community ecology ) Autecology i) Species ecology iv) Synecology
a) ionly b) rionly ¢) 1and ivonly d) iiand ionly
A specific place in an ecosystem, where an organism lives and performs its functions is

a) Habuitat b) Niche ¢) Landscape d) Biome

Read the given statements and select the correct option
i) Hydrophytes possess aerenchyma to support themseives in water
1) Seeds of Viscum are positively photoblastic as they germinate only in presence of light.
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i Hygroscopic water s the only soil water avalable to roots of plant growmng i soil as itis prescnt mside the
IMICTOPOI s

W) High temperanmne reduces use of water and soiute absorption by roots

a) tu .m\l_ monly DY nwand v only c) nand monly d) vand nonly
Which otfthe given plunt produces ¢ ardine ;v,lycnmdcs?

a) Cnlotropis b) Acauia ¢) Nepenthes d) Utniculana

lfc:ul the piven statements and select the correct option
§|.||c|nc:1l A Cattle do not graze on weeds ol Calotropis.
statement B Calotiopis have thomns and spines, ns defense against herbivores a) Both statements A btk &) e
Incorrect, b) Statement A s correct but statement B s incormrect
c’) gmh statements A and B are correct but statement B is nof the correct explanation of sutement A
lfl)car.?ltl;\:ri:ﬁm‘iw? ,\‘.uu! B are correct and statement B s the correct explanation of statement A

g statements and (ill up the blanks with correct option.

1) | 'Ig)tal sol water contentim soil is called 1) Soil water not available to plants is called
) Soil water available wo plants s called
a) Holard Echard Chresard b) Echard Holard Chresard

‘r’hfhl'::ld“;"hﬁ‘chard Holard  d) Holard Chreasard Ehard
plant of this group 1s adapted to live partly in water and partly above substratum and free from water

&ﬁ:y?g:yg‘;shld ] b) Mesophytes ¢) Hydrophytes d) Halophytes
2 Mymecontils resembling the female of an insect so as to able to get pollinated is due to phenomenon of
A froedivem le§ b) Ecolog!cal equivalents ¢) Mimicry d) Nonc of these
2 Noate g nitrogen fixing cyanobacterium which can also form symbiotic association with the water femn Azoline
Ped c ‘ b) Anabaena ¢) Chlorella d) Rhizobium

ogenesis refers toa) Fossjls b) Water ¢) Population d) Soil
Mycorthiza promotes plant growth by
8) Serving as a plant growth regulator b) Absorbing inorganic ions from soil

¢) Helping the plant in utilizing atmospheric nitrogen d) Protecting the plant from infection
In a fresh water environment like pond, rooted autotrophs are a) Nymphaea and typha

b) Ceratophyllum and Utnicularia ¢) Wolffia and pistia d) Azolla and lemna
Match the following:

Column I (Interaction) Column-1l (Examples

L Mutualism i) Trichoderma and Penicillium a) 1-(1), I-(ad), THI-(iii), IV-(iv), V(v)
L. Commensalism i) Balanophora, Orobanche b) 1<), [1-(m), NI-(v), TV<(¥), V(1)
lll. Parastitism i) Orchilds and Ferns c) I=(iii), H~(iv), H1-(v), IV-(1), V(i)
IV. Predation iv) Lichen and Mycorrhiza d) 1), 1Gii), TI-(i), VL), V()
V. Amensdalism v) Nepenthes and Diaonaea

Armange the layers of anther wall from locus to periphery . _ . _
a) Epidermis,middle layers, tapetum, endothecium  b) Tapetum, mld.dlc layers, cpidermis, cndolhccnurp
¢) Endothecium, epidermis. middle layers, tapetum  d) Tapetum, middle layers endothecium cpidermis

Which of the following represent megagametophyte

a) Ovule b)Embryo sac c)Nucellus ~  "d)Endosperm - .. 8 p———
In Haplopappusgracilis, number ofchromosomes in cells of nucellus is 4.Wha will be the chromosome number
in Primary endosperm cell? a)8 b)12 c)6 d)2 i

The scar lefl by funiculus in the seed is a)tegmen  b)radicle c)epicotyl d)hilum
Cocelorhizais found in a) Paddy b) Bean c) Pea d) Tridax

Caruncle develops from a) funicle b) nucellus ¢) integument d) embryo sac
In majornity of plants pollen is liberated at

a) 1 celled stage b) 2 celled stage c) 3 celled stage d) 4 celled stage

Extra nuclear inheritance is a consequence of presence of genes in :

a) Mitochondria and chloroplasts b) Endoplasmic reticulum and mitochondria

¢) Ribosomes and chloroplast d) Lysososmes and ribosomes

In order to find out the different types of gametes produced by a pea plant having

the genotype AaBb, it should be crossed to a plant with the genotype  a) aaBB b) AaBB c) AABB d) aabb

Which one of the following is an example of polygenic inheritance? a) Flower colour in Mirabilis jalapa
b) Production of male honey bee  ¢) Pod shape in garden pea d) Skin Colour in humans

Which Mendelian idea is depicted by a cross in which the F1 generation resembles

both the parents a) Incomplete dominance b) Law of dominance ¢) Inheritance of one gene d) Co-dominance

Fruit colour in squash 1s an example of a) Recessive epistatsis b) Dominant epistasis

c) Complementary genes d) Inhibitory genes

Which of the following explains how progeny can posses the combinations of traits that none of the parent possessed?
a) Law of segregation b) Chromosome theory ) Law of independent assortment d) Polygenic inheritance
“Gametes are never hybrid” This is astatement of

a) Law of dominanceb) Law of independent assortmentc) Law of segregationd) Law of random fertilization

The dominant epistatis rato 1s a)9:3:3:1 b) 12:3:1 c)9:3:4 d)9:6:1
If haploid number in a cell 1s 18. The doublemonosomic and trisomic number will be
a) 34 and 37 b) 34 and 35 ¢) 37 and 35 d) 17 and 19.
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Wh:,‘," one ol the tallowmg pairs of Codan orrectly matche  with then function of the ~ignal for! writcular ammino
i
) UUATUCA 1 iuemeh) GUUL GCUE Alan ) UAG UGA  Stopd) ALG ACG  Start /Methionine
I one strand o1 NA has the nirogenousha sequence as Al (. what would be
the complementony RNA strand sequence’a) ATCGU by TIAGLH ¢) UAGAC di AACTO
I3 DNA depend nt RNA polymerase catalys stranscription on one sfrand of the DNA »
which as called o a) Alpha strand I') Anti strand ¢) Template strand d) Coding “trand
Which of the foilowing correctly representsth low of genetic information”
DNA  d) Protemn - RNA -DINA

a) DNA - RNA I'rotein b) RNA DNA -Proiein ¢) RNA Protemn

Codon  anucodon mteractions oceur by
a) Covalent bond b) Flectrostatic interaclions c) Hydrogen bonds

Which ol the following RNA polymerases isrcsponsible for the transcription of protemn

coding genes 1n cukaryotes? a) RNA Poll b) RNA Poly I ¢)RNA Pol Il d)RNA Pol IV
A complex of ribosome attached to a singlestrand of RNA 1s known as

a) Polysome b) Polymer «) Polypeptide d) Okazak fragment
Micro propagation involves

a) vegelative multiplication of plants byusing micro-organismes.
explants ¢) vegetative multiplication of plant: byusing microspores
d) Non-vegetative multiplication of plantsby using microspores and megaspores

d) Hydrophobic interaction

b) vegetative multiplication of plants byusing small

Maich the following :
Column B

Column A
1) Toupotency A) Reversion of maturecells into meristerm
2) Dedifferentianion B) Biochemical andstructural changes ofcells
3) Explant C) Properties ofliving cells developsinto enure plan
4) Differenthation D) Selected planttissue transferred toculture medium
a)CADB b)ACBD <¢)BADC d)DBCA )
The prevention of large scale loss ofbiological interity  a) Biopatent b) Bioethics  ¢) Biosafety d) Biofuel
Which of the following is / are not a naturalecosystem?
d) Desen ecosystem

a) Forest ecosystem b) Rice field  ¢) Grassland ecosystem
Profundal zone 1s predominated byheterotrophs in a pond ecosysiem, because of
a) with effective hght penetration  b) no effective light penetration  ¢) complete absence of light d)aand b
Which of the following is / are not themechanism of decomposition

a8) Eluviation  b) Catabolism c) Anabolism d) Fragmentation
One green house gas contributes 20% of totalglobal warming and another contributes 60%. Thesc arc respectively
identified as  a) N,O and CO, b) CFCs and N,O  ¢) CH, and CO,d) CH4 and CFCS

Deforestation does not lead to a) Quick nutrient cycling  b) soil erosion

c) alternation of local weather conditions d) Destruction of natural habitat weatherconditions
JUCN red list categories has developedcriteria for threatened species. The criteria‘C” refers to

2) Geographic rangeb) Quantitiativeanalysis C)Small population size and declined) population reduction

Desired improved variety of economicallyuseful crops are raised by

a) Natural Selection  b) hybridization c) mutation d) biofertilisers

Plants having similar genotypes producedby plant breeding are called

a) clone b) haploid  c) autopolyploid d) genome

Importing better vaneties and plants fromoutside and acclimausing them to local environment is called
a) cloning b) heterosis c¢) selection  d) introduction

Dwarfing gene of wheal is a) pal | b) Atomita I¢) Norin 10 d) pelita 2
Crosses between the plants of the samevariety are called @) interspecific b) inter varietalc) intra vanet! d) mter generic
Progeny obtained as a result of gepeat selfpollination a cross pollinated crop to called

a) pure line b) pedigree line ) inbreed line d) heterosis
Atlas 66 which has beenused as a donor for improving cultivated wheat, which is nch in

A wheat vanety,
a) iron b) carbohydratesc) proteins d) vitamins
Groundnut is native of _a) Philippines  b) India ¢) North Amenica  d) Brazl
Statement A. Coffec contains caffcine. Statement B: Drinking coffec enhances cancer
c) A is wrong, B is correctd) A and B - Both are wrong

a) A 1s correct, B i1s wrongb) A and B - Both are correct
Tectonagrandis is coming under family a) Lamiaceac b) Fabaceac c) Dipterocaipaceae d) Ebenaceac

Find out the correcily maiched pair.

a) Rubber Shorearobusta b) Dye Indigoferaannecta c) Timber Cyperus papyrusd) Pulp Heveabrasiliensis
New world species of cotton b) Gherbaceumc ) Both aand b d) Gbarbadense
Select the mismatch.

a) Andrographis

b) Adhatada

¢} Phellanthus

a) Gossipiumarboretum

hepato protective
bronchodialator
anti-diabenie
anti-oxidant

) Curcormin

Pl oty coread ot hae oienaied mddomesticated from the New world

) Oy zasativa byloticumsctumne ) Foiocunaduron d) Zca mays 12 Botany EM - Pg__,
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